2 | 3 4 5 | 6 | 7 | 8 9 10 11 12 13 14 15 16 17

P~

Q - B

-9 i @ (ML+28): 1 _
|

- ML | 37 _

5 | | < (ML+15) _ @ A
| 1SO 4762 - M3x (a+7

—~— A DIN 7984 / DIN EN ISO 14580 - M3x6 X (a+7)
- 0.65 >2 35 | DIN 7984 / DIN EN ISO 14580 - M3x6 ~ 28+ 0.1 M. =1.15Nm 14 @ _ 13.65+ 0.1_ 1SO 7092 - 3

[

886 200 A1

A
|

' = =115 DRI r—— - - & n .
(- | “ @% M3x5 - @ @ N @J___ | ‘ BN N |
| —=- . | | LV/W °

|
E
E
—
E
—
@
\
—l]
E
E
S —
E
l
E
15+ 0.1 _
19+ 0.5
.

)
)
)
)
©)
®)
)
)
)
)

|

L f . _ _ |
B | =S e o ‘ | 10.06 | D |Rall/roll:
| D S A \ 0 *$* @ D 101 LE + 0.29
| ™~ 02 F @ or + 5 mrad
' _ 1075+ 02 c
B 35 > 60 100 100 35 _ o
L, ® ( .- 0.75+02 @
| [
A ) Auf max. Signal einstellen - _ 8
- - Adjust to max. signal Moire/gear: - =
+ 0.29 or+ 5 mrad IKS* 1
+ 0.014 or + 0.25 mrad RI* < = | —
) | 10.06 D Rollroll:
- /\ o D
I — | ! o S ] LE (i)r 2.259mrad
ML/2 3 “ S | = S v Ra 3,2
5 N - o av,
@ ! \E S| o ‘ || ‘ !
Y | ™~ B = ! | N o o
5 1 i ~ S “
| TS e | L1 EN
w Y ==1e O b L \* _ I “ ! ] — 13.65+ 0.1 _ ISO 7092 - 3 -
\ N - N~ -y E
¥/ ' ~
L e / (4)=> & © ISO 4762 - M3x (a+7)
4 R
- \ _ 8 30+ 0.1 _ 129 . .33
o -
]? —To.08 Nick/pitch: + 0,29° or + 5 mrad B-B
© // 0.1 F —1//]023|D M3x7 i @ 1 /0.06 D Rallfroll
_ 9 : LE LE + 0.29
7 or - 5 mrad F
o
y 4 (2) 075+ 02 RS ISO 7092 - 3
& 1ISO 4762
- M3x (a+5) —
1 _10.02_ _10.04_ _10.06_ B w
- A 111 AN
° 3 I 3 ~ ML + 28 _ -~ Is , - 4
_ 0.72 x (ML + 28) _ = D w
«=< [ L
/) [ )) ‘
ML < 2040 T e T e e e e e T T T e e e e e e e e e e e T T e T T T TR T T T it
e . 4
_ _ 0 _ _ _ _ _ _ _ _ _ _ _ ) _ _ _
Eos!gon A:[nsch_lagstlfte = - -7 | [ 0.05 1565 .l 0
OSIlon Stop pIns /o2 |F H
- ML + 28 _
0.01 x (ML + 28) - 0.56 x (ML + 28) _ 0.01 x (ML + 28)
I
ML > 2040 e e e e e e e e e e e ey A e e e e e e T T e e A e e T T T T T C 2.5 _
e e ﬂﬁ\ U S — | J
N
Empfehlung / Recommendation ¢ 3 —0.05 J , P4 ) |
@@@ = Montagemaglichkeiten = Mounting options //]0.2 |F E ( D I it q_“ O
F = Maschinenfuhrung = Machine guideway A g
* = max. Anderung bei Betrieb = max Change during operation 4001 11
(IKS: Inkrementalspur, RIl: Referenzmarkenspur) (IKS: incremental-track, RI: reference-pulse-track) — - K
@= Begin der Messlange ML = Beginning of measuring length ML C
C-C
®= Referenzmarken-Lage LIDA 4x3 = Reference mark position LIDA 4x3 @ = Funktionsanzeige = Status display
@= Referenzmarken-Lage LIDA 4x3C = Reference mark position LIDA 4x3C @ = Abtastspalt = Scanning gap
@= Mafstablange = Scale length @ = Anschlagflache MaRstab = Stop surhace scale
@= Auslesemagnet fur Limit-Schalter = Selector magnet for limit switch = Bewegungsrichtung der Abtasteinheit fiir Ausgangssignale = Direction of scanning unit motion for output signals 1D number
aly Schnittstellenbeschreib i ith interf ipti ange No. }
@ = Montageflache fur Abtastkopf @ = Mounting surface for scanning head @ gemals scrnsieienbeschreibung in accordance with interface description g:asi: " 2232692 ”
_ _ , (5) = Abstand wird bei Montage mit = Distance is adjusted with spacer | s LIDA 403/403C Tolermons oe par DIN SO 8075
@ = Klebstoff = Adhesive Abstandsfolie eingestellt foil while mounting process omersonsi| 9.4 | A1 LIDA 403 Algomeintol 150 2766 “omme 0.2
mm . Anschlussmalfte / Mating Dimensions General tol. ISO 2768-mH =6mm:+0,2
@ = Fixpunktelement zur Definition des = Fixed-pOint element in order to The reproduction, distribution and utilization of this document as well as the communication of its contents to others without express authorization is prohibited.
thermiSCheS FiXpunkteS define the thermal fixed pOint Offenders will be held liable for the payment of damages. All rights reserved in the event of the grant of a patent, utility model or design. ( ISO 16016 )
HEIDENHAIN ‘Version ‘Revision‘Sheet Page
DR. JOHANNES HEIDENHAIN GmbH D1 333968' OO - A' 01 c}f
‘ 2 ‘ 3 4 ‘ 5 ‘ 6 7 8 9 ‘ 10 11 12 83301 Traunreut, Germany Document number 1




	Blatt 1
	Ansichten
	new_view_1
	new_view_11
	rechts_12
	new_view_15
	new_view_16
	new_view_18
	new_view_22
	new_view_23
	new_view_24
	new_view_25
	new_view_32
	links_33



